

# Lösung

1

$$\begin{array}{r} 170 \cdot 3 \\ \hline 510 \end{array}$$

$$\begin{array}{r} 67000 \\ - 34645 \\ \hline 32355 \end{array}$$

$$\begin{array}{r} 32355 \\ + 510 \\ \hline 32865 \end{array}$$

2

$$\begin{array}{r} 250000 \cdot 2 \\ \hline 500000 \end{array}$$

$$\begin{array}{r} 23897 \\ + 124899 \\ \hline 148796 \end{array}$$

$$\begin{array}{r} 500000 \\ - 148796 \\ \hline 351204 \end{array}$$

3

$$\begin{array}{r} 890 \cdot 4 \\ \hline 3560 \end{array}$$

$$\begin{array}{r} 7898 \cdot 7 \\ \hline 55286 \end{array}$$

$$\begin{array}{r} 3560 \\ + 55286 \\ \hline 58846 \end{array}$$

4

$$\begin{array}{r} 34670 \cdot 5 \\ \hline 173350 \end{array}$$

$$\begin{array}{r} 2323 \cdot 8 \\ \hline 18584 \end{array}$$

$$\begin{array}{r} 173350 \\ - 18584 \\ \hline 154766 \end{array}$$

5

$$3600 : 600 = 6$$

$$\begin{array}{r} 787878 \cdot 6 \\ \hline 4727268 \end{array}$$